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Quiz for Section 4.3

1.  (6 pts)  An opinion poll asks an SRS of 1500 adults, “Do you jog?”  Suppose that the population proportion who jog (a parameter) is p = 0.15.  To estimate p, we use the proportion 
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in the sample who answer “Yes.”  The statistic 
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is a random variable that is approximately normally distributed with mean μ = 0.15 and standard deviation σ = 0.0092.  Find the following probabilities:
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2.  (6 pts)  Choose an American household at random and let the random variable Y be the number of persons living in the household.  The table below gives the distribution of Y.  

	Number of Persons
	1
	2
	3
	4
	5
	6
	7

	Probability
	0.25
	0.32
	0.17
	0.15
	0.07
	0.03
	0.01


(a)  Express the event “more than one person lives in this household” in terms of Y.  What is the probability of this event?

(b)  What is 
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(c)  What is 
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